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PRESENT PROGRESSIVE SYSTEM - λύω
Active Middle-Passive

Present Indicative 1st sing. λύω λύομαι

2nd sing. λύεις λύει / λύῃ

3rd sing. λύει λύεται

1st pl. λύομεν λύομεθα

2nd pl. λύετε λύεσθε

3rd pl λύουσι(ν) λύονται

Present Imperative 2nd sing. λύε λύου

2nd pl. λύετε λύεσθε

Active Middle-Passive

Present Participle Nom. sing. λύων, -ουσα, -ον λυόμενος, -η, -ον

Present Infinitive λύειν λύεσθαι

Active Middle-Passive

Imperfect Indicative 1st sing. ἔλυον ἐλυόμην

2nd sing. ἔλυες ἐλύου

3rd sing. ἔλυε(ν) ἐλύετο

1st pl. ἐλύομεν ἐλυόμεθα

2nd pl. ἐλύετε ἐλύεσθε

3rd pl ἔλυον ἐλύοντο
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FUTURE SYSTEM - λύω
Active Middle

Future Indicative 1st sing. λύσω λύσομαι

2nd sing. λύσεις λύσει / λύσῃ

3rd sing. λύσει λύσεται

1st pl. λύσομεν λυσόμεθα

2nd pl. λύσετε λύσεσθε

3rd pl λύσουσι(ν) λύσονται

Active Middle

Future Participle Nom. sing. λύσων, -ουσα, -ον λυσόμενος, -η, -ον

Future Infinitive λύσειν λύσεσθαι
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AORIST SYSTEM - 1st Aorist - λύω
Active Middle

Aorist Indicative 1st sing. ἔλυσα ἐλύσαμην

2nd sing. ἔλυσας ἐλύσω

3rd sing. ἔλυσε(ν) ἐλύσατο

1st pl. ἐλύσαμεν ἐλυσάμεθα

2nd pl. ἐλύσατε ἐλύσασθε

3rd pl ἔλυσαν ἐλύσαντο

Aorist Imperative 2nd sing. λῦσον λῦσαι

2nd pl. λύσατε λύσασθε

Active Middle

Aorist Participle Nom. sing. λύσας, -σασα, -σαν λυσάμενος, -η, -ον

Aorist Infinitive λῦσαι λύσασθαι

AORIST SYSTEM - 2nd Aorist - λείπω
Active Middle

Aorist Indicative 1st sing. ἔλιπον ἐλίπομην

2nd sing. ἔλιπες ἐλίπου

3rd sing. ἔλιπε(ν) ἐλίπετο

1st pl. ἐλίπομεν ἐλιπόμεθα

2nd pl. ἐλίπετε ἐλίπεσθε

3rd pl ἔλιπον ἐλίποντο

Aorist Imperative 2nd sing. λίπε λιποῦ

2nd pl. λίπετε λίπεσθε

Active Middle

Aorist Participle Nom. sing. λιπών, -οῦσα, -όν λιπόμενος, -η, -ον

Aorist Infinitive λιπεῖν λιπέσθαι


